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Modelling in Small Basic
		

Homework 3: Selection	Answers	
1.	(a)	Write down what score is output by the following program for the inputs given:
		(i)	die1 = 3	die2 = 4	7	[1]
		(ii)	die1 = 1	die2 = 1	12	[2]
		(iii)	die1 = 6	die2 = 6	24	[2]
1	'Homework 3 question 1
2	die1 = Math.GetRandomNumber(6)
3	die2 = Math.GetRandomNumber(6)
4	TextWindow.WriteLine ("Enter values for die1 and Die2")
5	die1 = TextWindow.ReadNumber()
6	die2 = TextWindow.ReadNumber()
7	If (die1 = die2) Then
8	  score = 2 * (die1 + die2)
9	Else 
10	  score = die1 + die2
11	EndIf 
12	If (die1 = 1) And (die2 = 1) Then
13	  score = score * 3
14	EndIf
15	TextWindow.WriteLine ("Die1 = "+ die1)
16	TextWindow.WriteLine ("Die2 = "+ die2)
17	TextWindow.WriteLine ("")
18	TextWindow.WriteLine ("Score = "+ score)
	(b)	Why is it difficult to test that your answers are correct by running this program?	 [2]
		Because the random numbers generated are unlikely to match 3,4 or 1,1 or 6,6
	(c)	Suggest some statements at lines 4, 5 and 6 that could be temporarily inserted in the code in order to check the answers given in (a) when you run the program.  	[3]
See lines in red above. Any prompt to enter the data is acceptable. 
Give a mark for die1 = 1, die2 = 1 or similar.
see program Homework 3 Question 1.sb in Modelling in Small Basic Programs folder



2.	Carrie is running a school disco. The costs for the hire of hall, music etc is £150. Tickets for the disco cost £6.00. Write a program to allow the user to enter the number of tickets sold and display the profit or loss on the night. 	
	If the disco makes a profit, display “Profit = £xxx”
	If the disco makes a loss, display “Loss = £xxx” ( n.b.Loss should be a positive integer)
	If the disco breaks even, display “Disco has broken even” 	[5]
	(Tip: Use the  If…ElseIf…Else…Endif  construction)	
'Homework 3 question 2
discoCosts = 150 	
TextWindow.Write ("Enter number of tickets sold: ")
ticketsSold = TextWindow.ReadNumber()	
profit = ticketsSold * 6 – discoCosts	
If (profit > 0) Then	
[bookmark: _GoBack]  TextWindow.WriteLine ("Profit = £"+ profit)	
ElseIf (profit < 0) Then	
  loss = -profit  	  TextWindow.WriteLine ("Loss = £"+ loss)
Else
  TextWindow.WriteLine ("Disco has broken even")
	EndIf
	Give a mark for each 2 correct statements even if they are not the same as the solution given above.
	see program Homework 3 Question 2.sb in Modelling in Small Basic Programs folder
[Total 15 marks]
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